Computer Rotation Bid

Purchase from FY22 Bid

Purchase Qty	Bid Item	Vendor	Item price (ea)	Total	Model Number	Notes
730	Lenovo Thinkbook 14s ITL	CDW-G	\$1,096.00	\$800,080.00	20WE0018US	Teacher devices
730	Lenovo USB-C Dock for Yoga ITL	Open Market	\$54.50	\$39,785.00	4X90V55523	Teacher docks
100	HDMI male - VGA female adapter	Open Market	\$20.94	\$2,094.00		
0	Lenovo ThinkCentre M70s	CDW-G	\$600.00	\$0.00	11DBSCQF00	
10	Lenovo ThinkCentre M90a All In One (Non-touch)	CDW-G	\$860.00	\$8,600.00	11CES3NR00	staff machine
180	Lenovo ThinkCentre M70a All In One (Touch)	CDW-G	\$878.00	\$158,040.00	11CLS24H00	Foodservice & staff
0	Lenovo ThinkStation P350 Tower (Integrated)	CDW-G	\$819.00	\$0.00	30E4S4EH00	High-powered desktop
6	Lenovo ThinkStation P350 Tower (Dedicated)	CDW-G	\$958.00	\$5,748.00	30E4S4EJ00	For RH PLTW lab
8	Lenovo ThinkPad P15v (Dedicated)	CDW-G	\$1,474.00	\$11,792.00	21AAS1HU00	For HS Journalism
750	Lenovo 500W	CDW-G	\$521.00	\$390,750.00	82J4S05300	HS student device
0	Lenovo ThinkPad L14	CDW-G	\$800.00	\$0.00	20X2S45500	Admin laptops
0	Lenovo ThinkPad T14	CDW-G	\$1,119.00	\$0.00	20W1S5PY00	Admin laptops
0	Lenovo ThinkPad T15	CDW-G	\$1,119.00	\$0.00	20W5S2VM00	Admin laptops
0	Panasonic Toughbook 55	CDW-G	\$2,265.00	\$0.00	FZ-55A8601VM	HCC & Transportation
0	Microsoft Surface Go 3 & Type Cover	CDW-G	\$755.00	\$0.00	Device: 8VD-00031	HCC student device
0	Lenovo ThinkCentre M70q (Tiny)	CDW-G	\$542.50	\$0.00	11DUSEJF00	Security Center machines
0	Lenovo 100e Chromeboook G2	CDW-G	\$229.00	\$0.00	81MA002FUS	2-8 Student Chromebooks
0	Lenovo 300e Chromebook G2	CDW-G	\$287.00	\$0.00	81MB0067US	Timeclocks, Touchscreen Chromebook option
0	Google Admin licenses	CDW-G	\$31.00	\$0.00		Necessary 1/ea chromebook

FY22 Total: \$1,416,889.00 FY21 Total: \$299,892.00 Grand Total \$1,716,781.00

Purchase from FY22 Bid

Purchase Qty	Bid Item	Vendor	Item price (ea)	Total	Model Number	Notes	
1211	Lenovo 100e Chromeboook G2	CDW-G	\$224.00	\$271,264.00	81MA002FUS	2-8 Student Chro	mebooks
100	Lenovo 300e Chromebook G2	CDW-G	\$286.28	\$28,628.00		Touch Screen Ch	romebooks

Total Amount: \$299,892.00

Possible eRate Funding

Purchase Qty	Bid Item	Vendor	Item price (ea)	Total	eRate qty	eRate per item	Total eRate	Dist after eRate
730	Lenovo Thinkbook 14s ITL	CDW-G	\$1,096.00	\$800,080.00	520	\$400.00	\$208,000.00	\$592,080.00
750	Lenovo 500W	CDW-G	\$521.00	\$390,750.00	275	\$400.00	\$110,000.00	\$280,750.00
1211	Lenovo 100e Chromeboook G2	CDW-G	\$224.00	\$271,264.00	1211	\$224.00	\$271,264.00	\$0.00
100	Lenovo 300e Chromebook G2	CDW-G	\$286.28	\$28,628.00	100	\$286.28	\$28,628.00	\$0.00
			Total	\$1,490,722.00			\$617,892.00	\$872,830.00

Bid Summary

Vendor	Bid Total	Notes
CDW-G	\$1,960,497.00	CDW-G did include a disclaimer in their bid that due to market volatility, their prices may increase without notice.
RTI	\$1,943,240.74	RTI bid almost all device categories but at generally higher price than CDW-G. Lower price than CDW here is due to the redundant docks.
HPI	\$597,388.31	HPI only bid Microsoft Surface devices, and was a late submission.

Bid Detail

Bid Qty	Purchase Qty	Bid Item	CDWG Item Price	CDWG Total	RTI Item Price	RTI Total	HPI Item Price	HPI Total
810	810	Lenovo ThinkBook 14s Yoga ITL	\$1,096.00	\$887,760.00	\$1,111.53	\$900,339.30		
780	780	Lenovo USB-C Dock for Yoga	\$54.50	\$42,510.00	\$109.16	\$85,144.80		
700	•	(Other brand alternative) USB-C	#000 F0	#400 446 00	007.04	#00.405.00		
780		Dock for Yoga	\$209.50		\$87.34			
820	0	HDMI male - VGA female adapter	\$27.50	\$22,550.00	\$20.94	\$17,170.80		
40	40	Lenovo ThinkCentre M70 or equivalent	\$600.00	\$24,000.00	\$672.72	\$26,908.80		
150	150	Lenovo ThinkCentre M90a All In One (Non-touch) or equivalent	\$860.00	\$129,000.00	\$968.24	\$145,236.00		
10	0	Lenovo ThinkCentre M70a All In One (Touch) or equivalent	\$878.00	\$8,780.00	\$1,021.72	\$10,217.20		
10	0	Lenovo ThinkStation P350 Tower (Integrated) or equivalent	\$819.00	\$8,190.00	\$987.03	\$9,870.30		
6	6	Lenovo ThinkStation P350 Tower (Dedicated) or equivalent	\$958.00	\$5,748.00	\$1,094.54	\$6,567.24		
		Lenovo ThinkPad P15v						
6		(Dedicated) or equivalent	\$1,474.00		\$1,530.45			
1000		Lenovo 500W or equivalent	\$521.00	•	\$533.08		\$591.5 <i>°</i>	\$591,510.00
30	0	Lenovo ThinkPad L14 or equivalent	\$800.00	\$24,000.00	\$736.87	\$22,106.10		
10	0	Lenovo ThinkPad T14 or equivalent	\$1,119.00	\$11,190.00	\$1,151.29	\$11,512.90		
10	0	Lenovo ThinkPad T15 or equivalent	\$1,119.00	\$11,190.00	\$1,039.29	\$10,392.90		
10	0	Panasonic Toughbook 55 or equivalent	\$2,265.00	\$22,650.00				
10	0	Microsoft Surface Go 3 & Type Cover	\$755.00	\$7,550.00	\$740.30	\$7,403.00	\$587.56	\$5,875.60
10	0	Lenovo ThinkCentre M70q (Tiny) or equivalent	\$542.50	\$5,425.00	\$667.45	\$6,674.50		
100	0	Lenovo 100e Chromeboook G2 or equivalent	\$229.00	\$22,900.00	\$279.60	\$27,960.00		
		Lenovo 300e Chromebook G2 or						
100		equivalent	\$287.00		\$389.49			
200	70	Google Admin licenses	\$31.00	\$6,200.00	\$32.00	\$6,400.00		
Bid total				\$1,961,597.00		\$1,943,240.74		\$597,385.60

Comparison - FY22 to FY21 Pricing

Bid Item	Vendor	22-23 Price	21-22 Price
Lenovo Thinkbook 14s ITL	CDW-G	\$1,096.00	n/a
Lenovo USB-C Dock for Yoga ITL	CDW-G	\$54.50	n/a
Lenovo ThinkCentre M70s [previous: M70c]	CDW-G	\$600.00	\$516.00
Lenovo ThinkCentre M90a All In One (Non-touch)	CDW-G	\$860.00	\$750.00
Lenovo ThinkCentre M70a All In One (Touch)	CDW-G	\$878.00	\$816.00
Lenovo ThinkStation P350 Tower (Integrated)	CDW-G	\$819.00	n/a
Lenovo ThinkStation P350 Tower (Dedicated)	CDW-G	\$958.00	n/a
Lenovo ThinkPad P15v (Dedicated)	CDW-G	\$1,474.00	n/a
Lenovo 500W [previous: 11e Yoga]	CDW-G	\$521.00	\$610.00
Lenovo ThinkPad L14	CDW-G	\$800.00	\$700.00
Lenovo ThinkPad T14	CDW-G	\$1,119.00	\$1,020.00
Lenovo ThinkPad T15	CDW-G	\$1,119.00	\$1,040.00
Panasonic Toughbook 55	CDW-G	\$2,265.00	\$2,074.82
Microsoft Surface Go 3 & Type Cover	CDW-G	\$755.00	n/a
Lenovo ThinkCentre M70q (Tiny)	CDW-G	\$542.50	\$516.00
Lenovo 100e Chromeboook G2	CDW-G	\$229.00	\$224.00
Lenovo 300e Chromebook G2	CDW-G	\$287.00	\$286.28
Google Admin licenses	CDW-G	\$31.00	\$31.00